MATH 112.01
EXAM I REVIEW
Radmacher


1. Consider the IVP 
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. Use Euler’s method with 2 steps of size 0.5 to estimate 
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2. Evaluate the following.

a. 
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h. 
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3. Compute the L4, R4, M4, T4 and S8 approximations (using regular partitions) of 
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4. Explain why 
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5. Using sigma notation, express the midpoint Riemann sum for 
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 having n subdivisions (using a regular partition). Do NOT evaluate the sum.

6. Order, from smallest to largest, the Ln, Rn, Mn, Tn and Sn approximations of 
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7. Indicate whether the following statements are True or False. No justification is necessary.

a. 
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 must be positive since it represents an area.

b. A partition of the interval [1, 3] into 4 subintervals by the points x0 = 1, x1 = 2, x2 = 2.5, x3 = 2.75 and x4 = 3 is not valid for a Riemann sum, since the subintervals do not have equal length. 

c. A midpoint sum can be written as the average of a right-hand and left-hand sum.

Sections Covered on Exam 1

5.4 – Finding Antiderivatives; The Method of Substitution

5.6 – Approximating Sums: The Integral as a Limit

5.7 – Working with Sums

6.1 – Approximating Integrals Numerically

6.3 – Euler’s Method
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